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Ouestion One : (30 Points)

Answer Bv either True or Fslse for the following statmets:

--
, ./ l- Combustion gases reduced amount of heat transfer by radiation

( x') 2- Black body reflect part of received heat by radiation
k>

( 1', 3- Nitrogen gas absorb part of heat transfer by radiation pass through it
Y_)

, ,,'\ 4- Most of engineering bodies allow radiation to pass through them
LY
( il 5- Natural convection transfer heat more than forced convection
\--l

( , . '  I  6 -  I n n a t u r a l c o n v e c t i o n N N u  : f ( N n .  & N p ,  )
\:r.

t il 7- Circulation in natural convection is due to external velocity.
\_-/

l ,  ^  i

i x_/ 8- Gray body is the ideal bodY.

L/t 9- Smooth surfaces emissivity is lower than rough surfaces.

/ l0- Rate of heat transfer by radiation proportional to Ta .

-/
l/ 1 1- Heat transfer coefficient represent conductance of heat

t /' 12-Heattransfer coefficient in natural convection depend on orientation of heating surlace.

r *_; 13- Heat transfer coefficient in forced convection depend on fluid velocity only
\-

,./' l4-Heattransfer coefficient inversely proportional to boundary layer thickness

,/ l5- Heat transfer coefficient in forced convection is proportional to Reynold number at constant Prandtl nutnber
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